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Choose the incorrect statement :

(A) A branch formed by the
parallel connection of any
resistor R and open circuit
has the characteristic of an
open circuit

(B) A branch formed by the
parallel connection of any
resistor R and a short circuit
has the characteristic of a
short circuit

(C) A branch formed by the
series connection of any
resistor R and an open circuit
has the characteristic of an
open circuit

(D) A branch formed by the
series connection of any
resistor R and a short circuit
has the characteristic of
resistor R

The superposition theorem

requires as many circuits to be
solved as there are :

(A) Sources, Nodes and Meshes
(B) Sources and Nodes

(C) Sources

(D) Nodes

The number of independent

equations to solve a network is

equal to :

(A) The number of chords

(B) The number of branches

(C) Sum of the number of
branches and chords

(D) Sum of number of branches,
chords and nodes

Ted B -

(A) &l uftReEd oIR8k 8w
dfhe & THEIR FIRME gRT
gIS TS IRGT H AUF Afhe @
faeryeT B 2 |

(B) f&dl 1 ufRER R ok wfid
dfhe & THEIR FIRME gRT
IS TS wE # 3 Afde @
faeryeT B 2 |

(C) fdll 1 URREN 3R &R T Gel
qfhe @ @ HaE gRT I8
T U™ W TS g dfbe @l
faeryeT B 2 |

(D) f&t ff uftReEd o &R e
qfbe & g@Al TR GRI
Tfed wrar H UfeREN oIR @l
faeryeT B 2 |

GRURRE W B g &% B forg

M & Wfbe @ mavIed Bl R

for 2

(A) 9, Tied 3R A%

(B) 9 3R g™

(C) i

(D) e

UH 4cdd B 8 PR @ o0 WA

THIGRN BT AT IRIR 2

(A) SR @ F&I

(B) 3IRITN @ e

(C) Rl iR Shawei o @ @
I

(D) IMERN, Siar R Feq @ FE&
T I
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While  calculating Rth  in

Thevenin’s theorem and Norton

equivalent :

(A) All independent sources are
made dead

(B) Only current sources are
made dead

(C) Only voltage sources are
made dead

(D) All voltage and current

sources are made dead

In Thevenin’s theorem, to find Z :

(A) All independent current
sources are short circuited
and independent voltage
sources are open circuited

(B) All independent voltage
sources are open circuited
and all independent current
sources are short circuited

(C) All independent voltage and
current sources are short
circuited

(D) All independent voltage
sources are short circuited
and all independent current

sources are open circuited

I & WY 3R AT WA H Rth

@I U TR Y

(A) I Wdd 9l B Fa @
I §

(B) ®dd gRT Wl H HI
[EUISIGIES

(C) ®da dlecsl Akl I gd a1 fa

I §

(D) ¥ dieed SR GRT Al B ga
g fear ST @

A & T W, Z BT ST AT

(A) ff T gRT AId 9 wfde @
IR W diecdl Wi el |fde
g

(B) Il Wad dlecyl A Gel Widhe
B 2 3R W w@dd 9N 9
9fc e B &

(C) ¥ Wda dieew R oRT AId
9fc e 8

(D) O Wad dleew Wi wie Afde
B & R W wWdd uRT 9
ol Hide B &
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A delta circuit has each element of
value R/2.  The equivalent
elements of star circuit with be :
(A) R

(B) R/3

(C) 2R

(D) 3R

A star circuit has element of

resistance R/2. The equivalent

delta elements will be :

(A) R/6

(B) R

(C) 2R

(D) 4R

A linear resistor having 0 < R <

©isa:

(A) Current controlled resistor

(B) Voltage controlled resistor

(C) Both current controlled and
voltage controlled resistor

(D) None of the above

A closed path made by several
branches of the network is known
as :

(A) Branch

(B) Loop

(C) Circuit

(D) Junction

U6 Seel UNUY W UG f@yd
AR/ BT B L B WY WwR dfe
EF%WW:

(A) 3R

(B) ¥R/3

(C) 23R

(D) 33R

U6 YR Wfbe § UfeRY & I« R/2

21T B | g el ad Bl

(A) 3R/6
(B) 38R
(C) 23R

(D) 43R

0<R< 0Tl Th WgF URRES

[

(A) or7 R aferwed

(B) dlecyl AR SIdbare

(C) TWi R fEfd &R dieed
BRIEGRIGELE]

(D) SR & F PIg 81

qeqd B BY AR RT §IY ¢ §¢

T B & B9 H O ST ¢

(A) 3@

(B) <

(C) fdc

(D) Si@EH
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10. Which of the following is a 10. f=foRed ¥ & @9 @ fuedm a@
bilateral element? 27?
(A) Constant current source (A) Frad am aa
B) Constant voltage source
® e (B) o At A
(C) Capacitance _
(C) WA
(D) None of the above
(D) SWIE ¥ ¥ P Tl
11.  Which of the following is the 11. f=foRad § & 9 sy T 87
passive element? (A) GeTRA
(A) Capacitance (B) aest a7 |
(B) Ideal current source ©) f e B
C) Ideal voltage source
(©) (D) SWIa I
(D) All of the above
12. A terminal where three on more 12. UH T TRl 99 3R IR g A
branches meet is known as : 2 b BT § Ml I ®
(A) Node (A) e
B) Termi
EC; Cerm;ms. (B) &
ombination :
(C) W3l
(D) Anode
(D) Tils
13. A passive network is one which 13. % (g cao a8 & for e
contains :
(A) Only variable resistances (A) ST IRISST YRR
f em.f. :
(B) (.)n.ly some sources of e.m (B) : A 7 o =9
n 1t
. © S0 THo Tho & ddd I 9d 59
(C) Only two sources of e.m.f. in 5
it
(D) No source of e.m.f. in it (D) ST BT PR AT T & A
Series-D B.Sc. - B140101T/ 567 Page - 6



14. Between the branch voltages of a 14. <@ @ IRIT dleey] @ 49 foxas B
loop the Kirchhoff’s voltage law dlecsl BT AR 81T &
imposes : (A) R-WRee qrET
(A) Non-linear constraints ®) e TG
(B) Linear constraints _
(C) ®Ig qrT T
(C) No constraints _ _
(D) None of the above D) ST H § Tl Tl
15. The superposition theorem is 15. Wﬁl?ﬂ T NIBN BT T
applicable to : (A) Bae] oo
(A) Voltage only (B) 4RI et
(B) Current “Only” ©) R AR drede AR
C) Both current and voltage
ED; Current voltage and power (B) o At SR A
16. Millman’s theorem yields : 16. faoi= @ v gfiwe:
(A) Equivalent resistance (A) THGE iR
(B) Equivalent impedance (B) \H@e WRyamwn
(C) Equivalent voltage source (©) T B g .
(D) Equivalent voltage or current D) S T T B
source
17.  Application of Norton’s theorem 17. =i w1 &1 gRuy des W NIBN BT :
to a circuit yields: (A) @ ¥ gaey 9N 9ld 3R
(A) Equivalent current source and ofam
impedance in series (B) W R a9 3 waEie §
(B) Equivalent current source and -
impedance in parallel
(C) Equivalent impedance (C) T Ficiae
(D) Equivalent current source (D) XHBE ERT T
Series-D B.Sc. - B140101T/ 567 Page - 7



18.  Which of the following is not a 18. fy=fafed § 9 N & REN d@
nonlinear element? el 2°
(A) Gas diode (A) 9 T
(B) Heater coil (B) X Bige
(C) Tunnel diode :
C SRS
(D) Electric arc ©
(D) sdifde®d A
19. The superposition theorem is 19. QCNCi GHER| SIRS I
applicable to : (A) Rgp, RIRgF &R T B
(A) Linear, Non-linear and Time ffpaTd
variant responises (B) Baw X ol R-Raw TR
(B) Linear and Non-linear :
C) @ad XRgd fifehary
resistors only © . _
(C) Linear responses only (D) Pl Tl
(D) None of the above
20. A network which contains one or 20. Ud Seqe forad ‘sfo THo Thho 67 Udh g1
more than one source of e.m.f. is Th d e AT Bd 2| 39 BT H
known as : ST ST R
(A) Linear network (A) W Jeaas
(B) Non-linear network
_ (B) RRg% cad
(C) Passive network
(D) Active network ©
(D) <fth dead
21.  Anideal voltage source has : 21. U 3Ny dlecol Wid H BT B
(A) Zero internal resistance (A) I JaR® UfaRlY
(B) Open circuit voltage equal to (B) Tﬁ e | AT & R 3
the voltage on full load A A
(C) Terminal voltage n _
. (C) URT & MU ¥ e dlecal
proportion to current NI 5
(D) Terminal voltage in (D) J
proportion to load
Series-D B.Sc. - B140101T/ 567 Page - 8



22. A non-linear network does not 22.  Ud RGN -edd Hgbc TE IRAT T
satisfy : (A) WU I Rerf
(A) Superposition condition (B) Uawudl @ Refy
(B) Homogeneity condition (©) <F TEEwE dx @y @
(C) Both homogeneity as well as
YRUITTRH @1 Rerfd
superposition condition o
(D) Homogeneity, Superposition (D) % 3 :
and Associative condition Rerfd
23.  The circuit has resistors, capacitors 23. dfbe H ufRwed, duRer @R
and semi-conductor diodes. The JH—hedex SIS Bd ¢ | Ffbe & wy
circuit will be known as : ¥ ST ST
(A) Non-linear circuit (A) e afre
(B) Linear circuit ®) " A
(C) Bilateral circuit .
(D) None of the above © 7 _ _
(D) SWIE ¥ ¥ B Tl
24. 1In a series parallel circuit, any two ~ 24.  Td S0 YHMIGR URUY ¥, U & ORT
resistances in the same current gRuyy H fosl < ufoRel @ § &F0
path must be in : IR ;
(A) Series with each other A) T E&Rﬁ & T 2RGeT
(B) Parallel with each other B) U G B HHHI;N
(C) Series with the voltage source ®) % SN _
(D) Parallel with the voltage © Nl <
(D) RSt HId & IR
25.  The circuit whose properties are  25. dg URuy foge o qmr faemen #
same in either direction is known FAM B hEdld ©
as: (A) THRBT Afhe
A) Unilateral circuit
. ®) S i
(B) Bilateral circuit
N (C) SR wfbe
(C) TIrreversible circuit
: o (D) Sl |gfde
(D) Reversible circuit
Series-D B.Sc. - B140101T/ 567 Page - 9



26. If the energy is supplied from a  26. 3IT Fol & aTtgf%‘r TS 91 9 B A
source, whose resistance is 1 ohm, 2 forger ufoRl 1 3™ 2 o 100 ¥
to a load of 100 ohms the source & IR & fov 9T 2
will be : (A) A A
(A) A voltage source B) T N
(B) A current source _
(C) Both of above © SR &
(D) None of the above (D) SR § F P T
27.  For maximum transfer of power, 27.  vfdd & frhdd SdiaRy & fow qra
internal resistance of the source HT ARD YfaRIE T 1RV ¢
should be : (A) ¥R TRRIY & a7
(A) Equal to load resistance B) R ofR B8
(B) Less than the load resistance
(C) Greater than the load © AR < it
resistance (D) ST H ¥ DI F
(D) None of the above
28. If resistance across Load is 30  28. 3T YR & IR—UR UfRE 30 MH B, A
ohms, then value of rest circuit R favm gRYY R &1 99 & -
is : (A) 10T
(A) 10Q (B) 20 &g
(B) 20Q © 2@
() 30Q
(D) 40Q (D) 40 |
29.  Efficiency of power transfer when ~ 29.  Ifddd &7 JfIHdH SR 8 TR Jfdd
maximum transfer of power is : LN Bl AT
(A) 100% (A) 100%
(B) 80% (B) 80%
©) 75%
(©) 75%
(D) 50%
(D) 50%
Series-D B.Sc. - B140101T/ 567 Page - 10



30. For high efficiency of transfer of  30. 9fdd SRR & S <& & oIy,

power, internal resistance of the Fid BT AaRe Uk T a1y
source should be : (A) R R & R
(A) Equal to the load resistance (B) R TR S

(B) Less than the load resistance
(C) More than the load resistance
(D) None of the above

(C) ¥R YRR & 1f®
(D) SR # F PIg 81

31.  Energy per unit charge is . 31, o ufd ?Iﬁ_c' AT s gl
(A) Power (A) TR
(B) Voltage (B) A
(C) Current ©) R
D) Capacitance .
(B) Cap (D) GRS
32.  Kirchhoff’s voltage law applies to 32.  fowdl® &1 diecs a9 dfbe W IR
circuits with : RN
(A) Nonlinear elements only (A) Sac R T
(B) Linear elements only (B) N S

C) Linear, Non-linear, Active
© (C) s, RR@d, AHg @R

and Passive elements

(D) Linear, Non-linear, Active, %Y T
Passive, Time varying as (D) o, RRw, wiwa, Fe,
well as  time-in-variant THE-M= BM @ A
elements I dcd Y
33.  Kirchhoff’s law is not applicable 33. fowe @ R dfde W) SRS Tel
to circuits with : 2T ©
(A) Lumped parameters (A) TEER Rrdiex
(B) Passive elements ®) N
(C) Distributed parameters
(D) Non-linear resistances (© R AR
(D) RRad wfeRer

Series-D B.Sc. - B140101T/ 567 Page - 11



34.  Kirchhoff’s law is applicable to : 34,  fodw @ | SINN HIE
(A) Passive networks only (A) e Afpg e
(B) A.C. circuits only (B) T S afase
(C) D.C. circuits only © o o S Ak
(D) ]:)icl:zllllitsA.C. as well D.C. D) S To o W & o o

Hfde

35.  “In any network containing more 35.  fedlt o dedd § T o THo Tho
than one sources of e.m.f. the & Uh 9 e did g | fedr f s
current in any branch is the H TRC B AAT—AT BIAD RIS
algebraic sum of a number of (w 3 o 9 wEr & wWR A
individual fictitious currents (the _ _
number being equal to number of el ) o a8, o
sources of e.m.f.), each of which is SRR L
due to separate action of each e PRAE & PRV Bl &,
source of e.m.f., taken in order, PH H fora ST & SUAUH & ¥9 9
when the remaining sources of hedcdl TART UfaweiUa fdam S g
e.m.f. are replaced by conductors, e uyftRly 9dfeg gial & ofaR®
the resistances of which are equal IR & W B |
to the internal resistances of the SR e 9 vl L
respective sources”.
Th: above statement is associated ) ST a1 s
with : (B) et & w
(A) Thevenin’s theorem (©) WW LR
(B) Norton’s theorem (D) SWIR § 4§ BIg el
(C) Superposition theorem
(D) None of the above
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36. A capacitor is generally a : 36. U@ JEIRF AT o BT 2|
(A) Bilateral and active (A) Tfueha iR Afhg Ted
component ®) W, R, aw ok s
(B) Active, passive, linear and —
nonlinear component
_ P , (C) @ 3R gfauelg gea
(C) Linear and bilateral
(D) IRRa® 3R Afhy ged
component
(D) Non-linear and active
component
37. Which of the following is non- 37. fi=foRed & 4 o R=Idy dfese
linear circuit parameter ? W g °?
(A) Inductance (A) RIS
B) Cond :
EC; V\?n enserd | (B) §
1re wound resistor
. (C) 9T 919 YR
(D) Transistor _
(D) giforeey
38.  “In any linear bilateral network, if ~ 38. ‘fo=fl ¥ WRaa fquely -eaw #, Il
a source of e.m.f. E in any branch S0 THo Uho fhall W) oRaT # E ol
produces a current I in any other 3T IR N GNe [ SO gRar & R
branch, then same e.m.f. acting in B et 5 S
the second branch would produce _
, T8 YRT/ Ugell IRGT § I 2l |
the same current/in the first _
. SWIFT HIT F FRET 7 -
branch”.
The above statement is associated (A) Fafrav LR
with : (B) RN 5
(A) Compensation theorem (C) URHRG T
(B) Superposition theorem (D) SR H ¥ Pls Tl
(C) Reciprocity theorem
(D) None of the above
Series-D B.Sc. - B140101T/ 567 Page - 13



39.  “Any number of current sources in  39. FHMIGR ¥ GRT 9l @ fhar ff dwen
parallel may be replaced by a @ Uh Uhd ORT Gid g1 gfaeenfud
single current source whose R o waaT £ e aN i
current is the algebraic sum of R N T S
individual source currents and N S N
source resistance is the parallel
combination of individual source I |
resistances”. SR FE | T ¢ -

The above statement is associated (A) AR B T
with : (B) Aerd @1 Wl
(A) Thevenin’s theorem (C) 3Ifrea Ifdd ExATaRYT WY
(B) Millman’s theorem (D) SRITT ¥ F P T
(C) Maximum power transfer
theorem
(D) None of the above

40. “Maximum power output is  40. ‘3RIHdH ool @G UH dedd W
obtained from a network when the T BT & Sd o iRy Tedd B
load resistance is equal to the JeeRe YRR & 4R 2T & O T
output resistance of the network as oe & el O Sw S |
seen from the terminals of the _
load”. The above statement is SRIAT Do A
associated with : (A) fAcrET 1 5
(A) Millman’s theorem (B) af 1 5
(B) Thevenin’s theorem ©) Wﬁ?ﬂ i
(C) Superposition theorem (D) 3@ Ifdd ExAiaRYT WY
(D) Maximum power transfer

theorem
Series-D B.Sc. - B140101T/ 567 Page - 14



41. To determine the polarity of the  41.

voltage drop across a resistor, it is

necessary to know :

(A)

(B)

©
(D)

42.  For a voltage source : 42.

(A)

(B)

©

(D)

43. An ideal voltage source should  43.

Value of current through the
resistor

Direction of current through
the resistor

Value of resistor

e.m.fs. in the circuit

Terminal voltage is always
lower than source e.m.f.
Terminal voltage cannot be
higher than source e.m.f.

The sourcee.m.f. and terminal
voltage are equal

None of these

have :

(A)
(B)
©
(D)

Large value of e.m.f.
Small value of e.m.f.
Zero source resistance

Infinite source resistance

fdl TRRITS & IR—IR dleedl Y B
gadl @ bR b [l AT A
AARD T -

(A) URRHT & ATH | ORT & Jo
(B) URREN & A1 W oRT @) e
(C) URREN &1 qea

(D) %o THo Tho Wfhe ¥

qreco AT @ forg

(A) cfFa dieesl BT 9
$0THoUPo I HF Bl 2

(B) cf¥a dlecy WA SoUHOTHo o
ARH TE B Webell &

(C) W $otHoUho 3R el dlees
RK 2

(D) ¥ W B T

T 3Med e G # BT A1 :

(A) STICH BT I91 oA

(B) ¥TE BT BIeT el

(C) T I UM

(D) 3T W iR

Series-D
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44.  Thevenin resistance Rth is found : 44, 9 YRR RhUrdT 77 &
(A) By removing voltage sources (A) dleed WAl B SHD  ATARD
along with their internal yfeRet & Ty gerR
resistances B) fv T & offet @1 e
(B) By short-circuiting the given SN
two terminals _ _
(C) Between any two ‘Open’ (©) Tl il @ﬁ eféeretl @ 4
terminals (D) Ey & M ol Sl & 49
(D) Between same open terminals
as for Ey
45. The concept on which 45, 9 @RI W ARV THY 3MenRd
Superposition theorem is based is : HCEE
(A) Reciprocity (A) TREREAT
(B) Duality (B) Eﬁﬁ
C) Non-linearity
ED; Linearity ©) il
(D) Rge
46.  Superposition theorem can be  46. IR THY dad ST URUAT W SIRS
applied only to circuits having : foar S gaar & o -
(A) Resistive elements (A) TR a@
(B) Passive elements B) Rt o
(C) Non-linear elements ©) P N
(D) Linear bilateral elements
(D) R 3fduela T
47.  Kirchhoff’s voltage law is related  47. {dx@(® dicesl 99 &7 ae 9 2 :
to : (A) SRRM gRY
(A) Junction currents (B) 8 $o o Tho
i; ]I?:tctlery e.m.fs. ©) agei élér
rops :
(D) Both (B) and (C) ®) il ) R ©
Series-D B.Sc. - B140101T/ 567 Page - 16



48. Kirchhoff’s current law is 48, {&d% &1 ORI PIT Ddel W Il
applicable to only : N
(A) Junction in a network (A) TF ¥ed F 1§ S
(B) Closed loops in a network B) T . o
(C) Electric circuits © VN
(D) Electronic circuits
(D) g wfde
49.  According to Kirchhoff’s voltage 49. fdR@i% & diecw U9 & IR, )
law, the algebraic sum of all IR IR @ AR e.m.fs. BT SN IT
drops and e.m.fs. in any closed Jead & e W qe U 3 T B
loop of a network is always : S
(A) Negative
(A) TTPRIHD
(B) Positive
(C) Determined by battery e.m.fs. (B) HPRIGI®
(D) Zero (C) 9 3o THo Tho gRIT iR
(D) ¥
50.  Kirchhoff’s current law states that: 50. foadit &1 ORT R dEdr ©
(A) Net current flow at the (A) SEH W g IRT T8 FHRIHD
junction is positive 3
(B) Algebraic sum of the currents (B) WEM ® B e e
zzztmg at the junction is - . 5
(C) No current can leave the © I Al e WRE T A
junction  without  some T foT e e S e
current entering it (D) WM W e aell gre @
(D) Total sum of currents Bl T Mg g
meeting at the junction is
Zero
Series-D B.Sc. - B140101T/ 567 Page - 17



51. Find the Y — parameter Y,; in the 51.  9F SET U gRu ¥ Yy — RHeR

circuit shown below : Y, T BT :
i S
(A) -1/4 (A) -1/4
(B) 1/4 (B) 1/4
) 12 ©) 172
(D) -172 (D) -172
52.  Find the Y — parameter Y, in the 52. M fogme v gRuy ¥ Yy —URmex

circuit shown below : Y, Sd DIFTT

(A) 2 (A) 2

(B) 372 (B) 32

© 1 (C) 1
! 1

©) /2 @) '/

53. The parameters Ylla Y123 Y213 Y22 53. Wlla le, Y21, Y22 Wﬁ % .

are called : (A) ¥l wfbe gfoarer deeey

(A) Open circuit impedance (B) ot aie g Sadh
parameters

(C) Seel FeRoT WRHeR
(D) ciRIfMeE RTeR

(B) Short circuit admittance
parameters

(C) Inverse transmission
parameters

(D) Transmission parameters

Series-D B.Sc. - B140101T/ 567 Page - 18



54.  Which of the following expression 54, W dfpe WA @ wHA H
is true in case of short circuit f=foRaa O § B9 9 IR |9y
parameters? 7
A L=YuVi+tYnLV, (A) L=Y,, V,+Yp Vs
B) L=YuL+YLV; B) =Y, I+ YV,
©) Vi=Yuli+YpV, €) Vi=YyL+YnVs
D) Vi=YuVitYpV, D) Vi=Y, Vi+YpV,

55. In determining short circuit 55. 3t e ufoarn Amdsl @ iR
impedance parameters, among Vi, qV,, Vo, 1, I, 9, fF=fefad § 9 o
V,, 1;, I, which of the following q 7 Tw &°
are dependent variables? (A) V,and V,

(A) Viand V; (B) 1, and I,
(B) Iyand I, (C) Viand L,
(C) Viand (D) IandV,
(D) I and V,

56. In the circuit shown below, find 56. =/ fo@mn v dfbe ¥, Wﬁ?ﬁ

the transmission parameter C : ey 4 9o
_— [
(A) 4/5 (A) 4/5
(B) 3/5 (B) 3/5
(C) 2/5 (C) 2/5
(D) 1/5 (D) 1/5

57. In the circuit shown below, find 57.  +W fo@mn v dfbe ¥, Wﬁ?ﬁ
the transmission parameter A : IRMHeY U 9o
(A) 6/5 (A) 6/5
(B) 5/6 (B) 5/6
© s © Iy
(D) 4/3 (D) 4/3
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58. The number of tie set matrices 58. UM W ¥4 9l < e Hgd @
formed from a graph is : TEIT §
(A) NN-—1 (A) T - 1
(B) NN (B) TEA
(© nn=2 (©) T 2
(D) NN +1 (D) TEH
59. The loop current direction of the 59. U% B Us I § el e ol @ Ie
basic loop formed from the tree of feam ¢ -
the graph is : (A) RG] GRT BT 297 & 9
(A) Same as the direction of the (B) e Bve & R & fuda
branch current : :
(B) Opposite to the direction of (€) T oY 3l o @ W
the link current (D) 3 e & fa=m & faude
(C) Same as the direction of the
link current
(D) Opposite to the direction of
the branch current
60. If A represents incidence matrix, I ~ 60. ITA MU Hee o1 yfifAfa wear
represents branch current vectors, 2 1 9T dxe d9ex & yfafafded axar
then : g
(A) Al=1 (A) Al=1
(B) AI=0 (B) AI=0
(©) Al=2 (C) Al=2
(D) Al=3 (D) Al=3
61.  Which of the following expression ~ 61. 3fU9 Wfhe WMeX & HHA H
is true in case of open circuit f=foRaa O 9 B9 9 IR 9
parameters? 7
(A) Vi=Z Vi+Zph (A) Vi=Zy Vi +Zp 1
B) Vi=Z L, +Z, V, B) Vi=Zn 1, +Z, Vs
©) Vi=ZuLi+Zpl ©) Vi=Zy 1l +Zp 1
(D) Vo=Zuli+Znh (D) Vo=ZL1i+Zx 1,
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62. In determining open circuit  62. Vl,VZ,Il,IZEﬁ dra, ofye Afde wfcrame
impedance parameters, among Vi, tRMfier feiRa o ¥, fF=faRag § 9
V,, 1;, I, which of the following P g v &°
are dependent variables? (A) ViV,
&) Vi, V2 (B) V., V,
B) Vi,V ©) Vi, L,
C) V1 ’
© Vil (D) 1, V,
D) L, V,
63. Two ports containing sources in  63. 3O IRIEH § FId dTel &I ST B
their branches are called : T el ST &7
(A) Three port (A) e
(B) One port B) T s
(C) Passive ports
_ (C) fAfepa urd
(D) Active ports
(D) fsha ure
64.  Two ports containing no sources in ~~ 64. I T U DI AP INERT § D5
their branches are called : Fid T8l €, dedd ©
(A) Active ports (A) Hha o
(B) Passive ports ®) ff o
(C) One port
(C) TH U
(D) Three port
(D) N Ure
65.  Loops which contain only one link  65. <0 R dadt va fofd 21T B, Wad
are independent are called : FHEAT &
(A) Open loops (A) @3} o
(B) Closed loops :
(B) 93U
(C) Basic loops
(C) I <
(D) None of the mentioned
(D) Sfeaflad # & T8 Tl
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66. Number of twigs in a tree are?  66. Udbtree ¥ twigs @ G fdhal &kl
(Where, n-number of nodes) 8?7 (W&l n--ireq @l W)

(A) n (A) n
(B) n+1 (B) n+1
(C) n-1 (C) n—1
(D) n-2 (D) n—>2

67. If no two branches of the graph  67. AT WH & Bg A1 3 AREN T T
cross each other, then the graph is DI dredl T8l g A U6 Pl T Pal
called? ST 27
(A) Directed graph (A) BrS%e ure
(B) Undirected graph

(B) 3 T
(C) Planar graph
(D) Non-planar graph © e
(D) IR-TR I

68. The number of branches incident  68. UT% & Are W MU IR B T
at the node of a graph is called : Pl 2
(A) Degree of the node (A) e @ h
B) Order of the nod
(B) Order of the node (B) = BT T
(C) Status of the node

(C) e @ Rafa
(D) Number of the node _
(D) e @I J&

69. A graph is said to be a directed 69. TS Y B FoRT UG T AW ©
graph if _ of the graph has A TE D oo 4 foum B
direction. (A) 1 9@

(A) 1 branch :
(B) 2 M9
(B) 2 branches _
(C) 3 UM
(C) 3 branches
D) A% IRAT
(D) Every branch (D) H
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70.  Find the value of voltage once
source transformation is applied to

the circuit ?

§ohm

(A) 10V
(B) 30V
(C) s0vV
(D) 70V
71.  Calculate the total current in the

circuit :

(A) 2.3mA
(B) 4.3mA
(C) 3.3mA
(D) 1.3mA

72. A voltage source connected in
series with a resistor can be
converted to a :

(A) Current source in series with
a resistor

(B) Current source in parallel
with a resistor

(C) Voltage source in parallel
with a resistor

(D) Cannot be modified

70.

71.

72.

dfde # Ad gRadq o] 89 @ 418
qecs] BT A9 1T DIV ?

(A) 10 dl
(B) 30 dl
(C) 50 @t
(D) 70 dI

|ihe § g FRe B AU N -

SmA

(A) 2.3mA

(B) 4.3mA

(C) 3.3mA

(D) 1.3mA

gGAT H TP URREG b WA G

diced! Ad & uRafdd fbar o1 |

2

(A) & URREN & | @ § grl
rd

(B) & YRRl @& W AR
eRT A

(C) & URRET & W g EiaR H
dqreeyl dd

(D) SN & o 1
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73.  Magnetic field exists along which ~ 73.  f=fciRad ¥ & fobqa a1 o &
of the following? AIgE 87
(A) Moving charges (A) HfdT =i
(B) Stationary charges (B) Rer WR
(C) Copper (C) PN
(D) Iron (D) et
74.  Materials having good retentivity ~ 74. 320! YfIEROT &Ml dTel TSI B
are : (A) Holgd ﬂgrq;
(A) Strong magnets (B) FIAR W
(B) Weak magnets :
(C) IRl gaeb
C) Temporary magnets _
© porty mag (D) R gah
(D) Permanent magnets
75.  What is a permeable substance? 75. IR ySrf @ 87
(A) Any good conductor (A) D3 ¥l 3BT ST
(B) Any bad conductor (B) P 0 K TSI
(C) Any strong magnet :
(C) DT 1 7T GaF
(D) Any substance through which _
o (D) 3 4 et R gex geon
the magnetic lines of force _ _
: 9 XY AT H [oR T
can pass easily
76.  What is power factor of a series 76. 3G o Rafd & T&d P %BQFIT
RLC circuit under resonance IRV e &1 vfdd dRe @7 2?2
condition? (A) 0
A) 0
(A) ®) 1
B) 1 .
(C) ¥ad
(C) Infinity
(D) 100
(D) 100
Series-D B.Sc. - B140101T/ 567 Page - 24



77. Resonance  frequency  occurs 77 TG 3Tlf|ﬁ[ TT BN & M o

when . (A) THU = Q—CR:R:‘ﬁ
(A) XL = XC (B) W >QER:R$[
(B) X> Xc¢ ©) - -

(C) X <Xc¢

(D) fiRa =t fom 1 e

(D) Cannot be determined

78.  What happens to the quality factor  78. WF[ 31g SR 0TI PRD Pl

when resonant frequency 7 BIdT 2°
increases? (A) Tl 3
(A) Increases (B) wed S
(B) Decreases
_ (C) T TR
(C) Remains the same
(D) ¥ Bl W &

(D) Becomes zero

79.  What happens to the quality factor ~ 79. §g 38\?4‘ ded W TGl dRE DI 1

when the bandwidth increases? 2IdT 7
(A) Increases (A) Tl 3
(B) Decreases (B) .
(C) Remains the same
(C) el & 8
(D) Becomes zero
(D) ¥ Bl W @
80. If the resonant frequency in a  80. IR TS $FAT IARYl Hdbe H
series RLC circuit is 50kHz along W‘H AART 1kHz @) defoey &

with a bandwidth of 1kHz, find the

quality factor ?

Y 50kHz &, T OrE SRS Tlol ?

) s (A) 5
®) 50 (B) 50
©) 100 (C) 100
(D) 500 (D) 500
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81. The flow of clectrons which does ~ 81.  gelagHl & Yalg I 9 ¥ &l ToRdl
not pass through the battery is S & HY H ST T ¢ |
known as (A) ORI T
(A) Displacement current (B) Sl e
B) Leakage current
®) cage e (C) 1 o favemmos a1 Reag o
(C) Either  displacement  or
| (D) 9 @ foRemE iR 9 & oo
eakage current _

(D) Neither displacement nor e
leakage current

82.  The flow of electrons in dielectric ~ 82.  T[al g3N H SeldglAl Bl YdT8
is due to & HR BT T
(A) Conduction (A) T
(B) Potential difference (B) R 3R
(C) Breakdown

: (€) e
(D) Resistance
(D) HfeRre
83.  Leakage in capacitors is primarily 83. duRiex ¥ Rurg w0 ¥
iy

caused by @ HR BT 2
(A) Transistors (A) TR
(B) Resistors B) R e
(C) Inductors _

(C) e
(D) DC motors

(D) SR wied

84. If the voltage increases, what 84. IT dleed dgar & Wﬁﬂﬂﬁ rfde
happens to dielectric strength? BT T Bl &7
(A) Increases (A) e 3
B) Decreases
®) (B) Tedl @

(C) Remains the same
(C) el & 8
(D) Becomes zero
(D) ¥ Bl T &
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85. The unit for dielectric strength
1s
(A) V/m®
(B) MV/m’
(C) MV/m
(D) Vm

86. Who witnessed the effect of
magnetism for the first time?
(A) Hans Christian Orsted
(B) Alexander Graham Bell
(C) Michael Faraday
(D) Gustav Robert Kirchhoff
87.  What is the number of branches in
a circuit with three nodes and three
loops?
(A) 4
B) 5
(©) 6
(D) 7
88.  Who defined electric current and
devised a method to measure
current?
(A) Michael Faraday
(B) Andre-Marie Ampere
(C) Nikola Tesla
(D) Alessandro Antonio Volta

85.

86.

87.

8.

Widgyd afed FTAEE R
(A) V/m®

(B) MV/m’

(C) MV/m

(D) Vm

Aqdd B PG Ugell AR T <@r?
(A) 9 ¥ eifcs

(B) 3felduiex TEH 9

(C) Hgdhdl BIS

~N v

(D) %I T [hRain

M rew AR N o@ del e H
aIaraTt @ e foba Bl 82

(A) 4

B) 5

C) 6

D) 7

R o1 1 et aRwfe e aie
fIgga oxT @ A9 @ fa @
MfdspR fevar?

(A) HIghel BRIS

(B) 3me—A% viRR

(C) frenm <xar

(D) Tenigl GeifEl dieer
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89.  Which of the following is correct ~ 89.  JRR,FT A R, ¥ A0 8, T el §
about the power consumed by R, ‘_flé R,3R R, ERT U &I T8 vfdd &
and R, connected in series if the a3 Prffad ¥ 9 o |1 g9
value of R, is greater than R,? (A) R, i Ao & @ug BT
(A) R, will consume more power
(B) R, will consume more power ®) R, 3D Ficl 1 o 7
(C) Ry and R, will consume the © RiR Ry W faofell @1 s
same power ol

(D) The relationship between the (D) QU @I TS Wk b dra e
power consumed cannot be wfid =8l fhar 91w €
established

90. According to the fundamentals of  90. gafdcdd SWIMINT & q Rrgil @
electrical engineering, which of IR, e W B9 Th Wl gidbe ¥
these is a correct representation of o aﬁl 71 ) vRifif ¥
peak value in an AC Circuit?

(A) RMS value/Peak factor (A) s W/w s
(B) JRTATH HeA*HIH hacs

(B) RMS value*Form factor

(C) RMS value/Form factor (C) SIRTHTH Tt/ i TP

(D) RMS value*Peak factor (D) SRUHTH ﬂ@l*tﬂ?ﬁ B

91. In the sinusoidal response of R-C 9l. I=X Afde & AgTdizsd Ufafhar ¥,
circuit, the complementary IS & FHEN & TG I T
function of the solution ofi is : (A) i, = ce~t/RE
(A) i, = ce t/R¢ (B) i, = cet/rE
(B) i, = cet/R¢ (C) i, = ce Ret
©) i =ce™™ (D) i, = ceR‘t
(D) i, = ceRet
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92.  Which of the following elements  92. 39 & 49 BT ST PP Foldg o]
of electrical engineering cannot be SOl & fa=foRad 5 9 g d@
analyzed using Ohm’s law? &1 favoryor 1St fbar o ot 2?

(A) Capacitors (A) Stfyey

(B) Inductors :

(C) Transistors ®) m

(D) Resistance (©) FITR
(D) R

93.  In the sinusoidal response of R-L- 93. R-L-C uRuy o RIESRIESY faferar
C circuit, the complementary ¥ i P fdorgd @1 RS AR
function of the solution of'11is : (A) i, = c,e®1+K2E 4 ¢ p(K1-K2)t
(A) i, = ce®1HK2t 4 ¢ o(K1I-K2)t (B) i, = c,e®1KDt 4 ¢ o(KI-K2)t
(B) i, = ce®17K2t 4 ¢ (K1-K2)t (C) i, = c,e®I+KDEt 4 ¢ o(K2-KD)
(C) i, = cre®1HK2t 4 ¢ (K2-K1)E (D) i, = c,e®I+KDE | ¢ o(K2+KD)
(D) i, = Cle(K1+K2)t+ Cle(K2+K1)t

94.  If the roots of an equation are real 94, Ife fooxl TR B q CIESIE GRS
and equal, then the response will WIeR 8l U S
be: (A) e sramfed
(A) Over damped (B) R
®) Da,n,lped (C) hifdd faHe
(C) Critically damped _

(D) Under damped (D) = e

95. If the roots of an equation are 95. fe f&dl FdaRor & q BIRE W
complex conjugate, then the < a1 ufafshar grf
response will be : (A) RF At
(A) Over damped (B) Hi s
(B) Critically damped
(C) Damped © _

(D) Under damped (D) = T
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96. If the roots of an equation are real 96. Ife o=l BRI B el dR % 3R
and unequal, then the response will /g9 & o ufaferar grfi?
be? (A) il araHe
(A) Critically damped B) = £
(B) Under damped

(C) <f® 3faHlad
(C) Over damped
(D) Damped (D)

97.  After how many time constants, 97. dad I ReRie @ 916, aftie Wi
the transient part reaches more 39 3Ifay T & 99 yfaerg ¥ 3ffed
than 99 percent of its final value? IF tlfuﬁ[ ST &

(A4) 2 (A) 2
(B) 3
(B) 3
©) 4
D) 5 ) 4
D) 5

98.  The value of the time constant in ~ 98. R-L URuY ¥ f4Id THY &1 919 87
the R-L circuit is? (A) Td /3R
(B) R/L ©) 3R
© % (D) Td
D) L

99. The steady state part in the 99. R-L IRUI ¥ oRT & @vd H ReR
expression of current in the R-L JTIRAT | &7
circuit is? 14

) ( A) E e(R/L)t
(A) Ee(R/L)t V _—(R/L)t
(B) —e
(B) Ke—(R/L)t o
5 ©) =
(C) R R
. D) 5
D) 5
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100. Where does electro-static shielding 100. IR MAdR Tl | ﬁﬂgﬁ EIRER

occur in a charged spherical shell?

(A) When electrical potential
outside spherical shell is zero

(B) When electrical potential
inside the spherical shell is
Zero

(C) When electrical field outside
the spherical shell

(D) Electrical field inside the

spherical shell

fkkdkkx

JRREOT Gal Bl 27
(A) T4 AR Tid & e faggd

AT I BN B
(B) W4 TMedR @id & 3iex fagga
AT I BN B

(C) @ MR @il & dex faggd
&
(D) TEGR T & IR gy &
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